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EXAMINATION, 2024
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(SCIENCE)
g_` : 4 KÊQ>o 15 {_{ZQ>

nyUmªH$ : 80

Roll No.Zm_m§H$
Sl.No. :

narjm{W©`m| Ho$ {bE gm_mÝ` {ZX}e …narjm{W©`m| Ho$ {bE gm_mÝ` {ZX}e …narjm{W©`m| Ho$ {bE gm_mÝ` {ZX}e …narjm{W©`m| Ho$ {bE gm_mÝ` {ZX}e …narjm{W©`m| Ho$ {bE gm_mÝ` {ZX}e …

GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) narjmWu gd©àW_ AnZo àíZ nÌ na Zm_m§H$ A{Zdm ©̀V… {bI| &

Candidate must write first his/her Roll No. on the question paper
compulsorily.

2) g^r àíZ hb H$aZo A{Zdm ©̀ h¢ &

All the questions are compulsory.

3) àË òH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m _| hr {bI| &

Write the answer to each question in the given answer-book only.

4) {OZ àíZm| _| AmÝV[aH$ IÊS> h¢, CZ g^r Ho$ CÎma EH$ gmW hr {bI| &

For questions having more than one part, the answers to those parts
are to be written together in continuity.
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~hþM`ZmË_H$ àíZ -~hþM`ZmË_H$ àíZ -~hþM`ZmË_H$ àíZ -~hþM`ZmË_H$ àíZ -~hþM`ZmË_H$ àíZ -

Multiple choice question
1) {ZåZ{b{IV àíZm| Ho$ CÎma H$m ghr H«$‘mja H$m M¶Z H$a H$moð>H$ ‘| {bI| & [15 × 1 = 15]

Write the answer of the questions in answer book by selecting the correct
option.
i) {ZåZ{b{IV g‘rH$aU h¡ :- [1]

H2+Cl22HCl

A) EH$ AnKQ>Z A{^{H«$¶m

~) EH$ g§¶moOZ A{^{H«$¶m

g) EH$ {Û-{dñWmnZ A{^{H«$¶m

X) EH$ {dñWmnZ A{^{H«$¶m

Following is the equation :-
H2+Cl22HCl
A) A decomposition reaction
B) A combination reaction
C) A double displacement reaction
D) A displacement reaction

ii) CXmgrZ {db¶Z H$m pH ‘mZ hmoVm h¡ - [1]
A) 6

~) 7

g) 8

X) 14
The pH value of a neutral solution is -
A) 6
B) 7
C) 8
D) 14



3

S–123–Science (D & D) 1653

iii) bmohm d BñnmV H$mo O§J go gwa{jV aIZo Ho$ {bE CZ na {H$g YmVw H$s nVbr naV M‹T>mB© OmVr h¡?[1]

A) Vm§~m

~) Mm§Xr

g) gmoZm

X) qOH$ (OñVo)

Which thin layer of metal is coated to protecting steel and iron from rusting?

A) Copper

B) Silver

C) Gold

D) Zinc

iv) gabV‘ hmBS´>moH$m~©Z h¡- [1]

A) {‘WoZ

~) BWoZ

g) àmonoZ

X) ã¶yQ>oZ

Simplest hydrocarbon is-

A) Methane

B) Ethane

C) Propane

D) Butane
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v) ‘Zwî¶ ‘| d¥³H$ EH$ V§Ì H$m ^mJ h¡, Omo g§~§{YV h¡- [1]

A) nmofU

~) ídgZ

g) CËgO©Z

X) n[adhZ

The kidney in human beings are a part of the system for -

A) nutrition

B) respiration

C) excretion

D) transportation

vi) àH$me g§íbofr A§JH$ h¡- [1]

A)  nÎmr

~)  h[aV bdH$

g)  ³¶y{Q>H$b

X)  ‘mBQ>moH$mopÝS´>¶m±

Photosynthesis organelle is-

A) Leaf

B) Chloroplast

C) Cuticle

D) Mitochondria
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vii) {ZåZ{b{IV ‘| go H$m¡Zgm nmXn hm‘m}Z h¢? [1]

A) B§gw{bZ

~) Wm¶am°{³gZ

g) EñQ´>moOZ

X) gmBQ>moH$mB{ZZ

Which of the following is a plant hormone?

A) Insulin

B) Thyroxin

C) Oestrogen

D) Cytokinin

viii) namJH$moe ‘| hmoVo h¢- [1]

A) ~møXb

~) A§S>me¶

g) A§S>n

X) namJH$U

The anther contains

A) sepals

B) ovules

C) pistil

D) pollen grains
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ix) ‘Zwî¶ ‘| {H$VZo Omo‹S>o JwUgwÌ nm¶o OmVo h¢? [1]

A) 26

~) 14

g) 23

X) 18

How  many pairs of chromosomes are found in the human?

A) 26

B) 14

C) 23

D) 18

x) àH$me H$m doJ-Ý¶yZV‘ hmoVm h¡- [1]

A) {Zdm©V ‘|

~) Ob ‘|

g) dm¶w ‘|

X) H$m§M ‘|

The speed of light is minimum.

A) In a vacuum

B) In a water

C) In a air

D) In a glass
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xi) A{^ZoÌ b|g H$s ’$moH$g Xÿar ‘| n[adV©Z {b¶m OmVm h¡- [1]

A) nwVbr Ûmam

~) Ñ{ï>nQ>b Ûmam

g) nú‘m^r no{e`mo Ûmam

X) n[aVm[aH$m Ûmam

The change in focal length of an eye lens is caused by the action of the.

A) Pupil

B) Retina

C) Ciliary muscles

D) Iris

xii) {dÚwV Ymam H$m ‘mÌH$ h¡- [1]

A) dmQ> (W)

~) dmoëQ> (V)

g) Amo‘ ()

X) Eopån¶a (A)

The unit of electric current is -

A) Watt (W)

B) Volt (V)

C) Ohm ()

D) Ampere (A)
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xiii) bKwnWZ Ho$ g‘¶ n[anW ‘| {dÚwV Ymam H$m ‘mZ- [1]

A) ~hþV H$‘ hmo OmVm h¡

~) n[ad{V©V Zht hmoVm

g) ~hþV A{YH$ ~‹T> OmVm h¡>

X) {Za§Va n[ad{V©V hmoVm h¡

At the time of short circuit, the value of electric current in the circuit.

A) reduces substantially

B) does not change

C) increase heavily

D) vary continuously

xiv) ‘¥V eara H$mo nMmZo dmbo Ordm| H$mo H$hVo h¢- [1]

A) CËnmXH$

~) AnKQ>H$ Ord

g) ñdnmofr

X) nanmofr

The living beings who digest the dead body are called.

A) Producer

B) Decomposer organism

C) Autotroph

D) Heterotroph
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xv) {ZåZ{b{IV ‘| go H$m¡Zgo g‘yhmo ‘| Ho$db O¡d {ZåZrH$aUr¶ nXmW© h¢- [1]

A) Kmg, nwîn VWm M‘‹S>m

~) Kmg, bH$‹S>r VWm ßbmpñQ>H$

g) ’$bm| Ho$ {N>bHo$, Ho$H$ Ed§ Zt~y H$m ag

X) Ho$H$, bH$‹S>r Ed§ Kmg

Which of the following groups contains only biodegradable substance.

A) Grass, Flowers and Leather

B) Grass, Wood and Plastic

C) Fruit-Peels, Cake and Lime-Juice

D) Cake, Wood and Grass

2) àíZ g§»`m (i go v) VH$ [aŠV ñWmZm| H$s ny{V© H$s{OE - [5 × 1 = 5]

Fill in the blanks in question numbers upto (i to v) -

i) g§Vw{bV amgm¶{ZH$ g‘rH$aU ‘| A{^H$maH$m| VWm CËnmXm| ‘| {d{^Þ VËdmo Ho$ na‘mUwAm| H$s g§»¶m
.......... hmoVr h¡ & (g‘mZ/Ag‘mZ) [1]

In a balanced chemical equation, the number of atoms of different elements
of the reactants and products are _____. (equal/unequal)

ii) ‘Zwî¶ H$s AmhmaZmb H$m àW‘ A§J ........ h¡ &  (Am_me¶/‘wI) [1]

The first part of the human alimentary canal is the _____. (Stomach/mouth)
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iii) A¾me¶ go ...... òm{dV hmoVm h¡ & (BÝgw{bZ/EoñQ´>moOZ) [1]

_______ is secreted from the pancreas. (Insulin/Oestrogen)

iv) {dÚwV Ymam ‘mnZo H$s ¶w{³V H$mo ........... H$hVo h¢& (dmoëQ>‘rQ>a/A‘rQ>a) [1]

The device that measuring the electric current is called _______
(Voltmeter/Ammeter)

v) OÝVw, nm¡Yo VWm gyú‘Ord dmVmdaU Ho$ .................. KQ>H$ h¢& (O¡{dH$/AO¡{dH$) [1]

Animals, plants and microorganisms are ___________ components of
environment. (Biotic/Abiotic)

{ZåZ{b{IV àíZm| Ho$ CÎma EH$ n§{³V ‘| Xr{OE - [10 × 1 = 10]

Answer the following questions in one line-

3) dgm¶wº$ AWdm V¡br¶ ImX¶ gm_J«r H$mo b§~o g‘¶ VH$ aIZo na n¡qH$J W¡br H$mo H$m¡Zgr J¡g go ¶w³V {H$¶m
OmVm h¡? [1]

Which gas is stored in the packing bag when fatty and oily food items are stored
for a long time?

4) CaOCl2 ¶m¡{JH$ H$m àM{bV Zm‘ {b{IE & [1]

Write the popular name of compound CaOCl2.

5) Eogr YmVw H$m CXmhaU Xr{OE Omo H$‘ao Ho$ Vmn na Ðd AdñWm ‘| hmoVr h¢? [1]

Give an example of metal which is in the liquid state at the room temperature.
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6) ‘N>br H$m ‘w»¶ ídgZ A§J h¡? [1]

The main respiratory organ of fish is ?

7) ‘pñVîH$ H$m H$m¡Zgm ^mJ eara H$s pñW{V VWm g§VwbZ H$m AZwajU H$aVm h¡? [1]

Which part of the brain is responsible for maintaining the posture and balance of
the body.

8) ’y$b H$m H$m¡Z gm ^mJ ’$b ‘| ~XbVm h¡? [1]

Which part of the flower turns into fruit?

9) gmBS> {‘aa Ho$ ê$n ‘| H$m¡Z gm Xn©U à¶w³V hmoVm h¡? [1]

Which type of mirror is used as the side - view.

10) ‘mZd ZoÌ ‘| à{V{~å~ H$hm± ~ZVm h¡? [1]

Where is the image formed in the human eye?

11) nmXnm| ‘| ^moOZ H$m ñWmZmÝVaU {H$gHo$ Ûmam hmoVm h¡? [1]

In plants food is transferred by which?

12) n¶m©daU ‘w»¶ ê$n go {H$VZo KQ>H$mo§ H$m ~Zm hmoVm h¡? [1]

Environment is mainly made up of how many components?
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{ZåZ{b{IV àíZm| Ho$ CÎma eãX gr‘m A{YH$V‘ 30 eãX h¡ & [7 × 2 = 14]

The word limit for answers to the following questions is maximum 30 words :

13) CXmgrZrH$aU A{^{H«$¶m H$mo n[a^m{fV H$s{OE & [2]

Define neutralisation reaction.

14) bmoho H$mo O§J go ~MmZo Ho$ {bE Xmo VarHo$ ~VmBE & [1 + 1 = 2]

State two ways to prevent the rusting of iron.

15) H$m~©Z Ho$ Xmo JwUK‘© {b{IE & [1 + 1 = 2]

Write two properties of carbon.

16) namJU Ho$ {d{^Þ àH$ma {b{IE & [1 + 1 = 2]

Write different types of pollination.

17) DNA H$m nyam Zm‘ {b{IE & [2]

Write full name of DNA.

18) Amo‘ H$m {Z¶‘ {b{IE & [2]

Write Ohm's law.

19) nmofrñVa ³¶m h¡? EH$ Amhma l¥§Ibm H$m CXmhaU Xr{OE & [2]

What is trophic level? Give one example of food chain.
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{ZåZ{b{IV àíZm| Ho$ CÎma eãX gr‘m A{YH$V‘ 50 eãX h¡ & [8 × 3 = 24]

The word limit for answers to the following questions is maximum 50 words :

20) i) X¡{ZH$ OrdZ ‘| pH H$m H$moB© EH$ ‘hËd {b{IE &

ii) Aåb Ho$ Xmo amgm¶{ZH$ JwU {b{IE &

[1 + 2 = 3]

i) Write any one importance of pH in everyday life.

ii) Write two chemical properties of acid

21) {‘lYmVw {H$go H$hVo h¢? Xmo CXmhaU {b{IE & [1 + 2 = 3]

What is called alloy? Wirte two examples.

22) h‘mao eara ‘| J«mhr H$m ³¶m H$m¶© h¡? J«mhr Ho$ Zm‘ {bImo & [3]

What is the function of receptors in our body? Write the name of receptors.

23) i) {ZfoMZ H$mo n[a^m{fV H$s{OE &

ii) nwîn H$s AZwX¡Ü¶© H$mQ> H$m Zm‘m§{H$V {MÌ ~ZmBE &

[1 + 2 = 3]

i) Define Fertilisation.

ii) Draw a labellead diagram of the longitudinal section of a flower.

24) bjU àmê$n (’$sZmoQ>mBn) {H$go H$hVo h¢? [3]

What is called Phenotype?
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25) Kaoby {dÚwV n[anWm| ‘| joUrH«$‘ g§¶moOZ H$m Cn¶moJ ³¶m| Zht {H$¶m OmVm h¡? [3]

Why is the series arrangement not used for domestic circuits?

26) Vmao ³¶m|§ {Q>‘{Q>‘mVo h¢? [3]

Why do stars is twinkle?

27) h‘mao Ûmam CËnm{XV AO¡d {ZåZrH$aUr¶ H$Mao go H$m¡Z-gr g‘ñ¶mE± CËnÝZ hmoVr h¢? [3]

What are the problems caused by the non-biodegradable wastes that we generate?

{ZåZ{b{IV àíZm| Ho$ {dH$ën {X¶o J¶o h¡ & CÎma eãX gr‘m A{YH$V‘ 100 eãX h¡ & [2 × 6 = 12]

Options for the following questions are given. Answer word limit is maximum 100
words :

28) i) ^moOZ Ho$ nmMZ ‘| bma H$s ŷ{‘H$m g‘PmBE &

ii) ‘mZd nmMZ V§Ì H$m Zm‘m§{H$V {MÌ ~ZmBE &

[3 + 3 = 6]

i) Explain the role of saliva in the digestion of food.

ii) Draw a labelled diagram of human digestive system.

AWdm/OR

i) dm¶dr¶ Ed§ Adm¶dr¶ ídgZ ‘| A§Va g‘PmBE &

ii) J¡gm| Ho$ A{YH$V‘ {d{Z‘¶ Ho$ {bE Hy${nH$mE§ {H$g àH$ma A{^H$pënV h¢?

[3 + 3 = 6]

i) Explain the differences between aerobic and anaerobic respiration.

ii) How are the alveoli designed to maximize the exchange of gases?
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29) i) gm~wZ H$s g’$mB© à{H«$¶m H$s {H«$¶m{d{Y g‘PmBE &

ii) H$n‹S>m gm’$ H$aZo Ho$ {bE Cgo aJ‹S>Zo H$s ³¶m| Amdí¶H$Vm hmoVr h¢?

[3 + 3 = 6]
i) Explain the mechanism of the cleaning action of soap.
ii) Why is agitation necessary to get clean clothes?

AWdm/OR

i) g‘OmVr¶ loUr ³¶m h¡? CXmhaU Ho$ gmW g‘PmBE &

ii) H$R>moa Ob H$mo gm~wZ go CnMm[aV H$aZo na PmJ Ho$ {Z‘m©U H$mo g‘PmBE &

[3 + 3 = 6]

i) What is an homologous series? Explain with an example.
ii) Explain the formation of scum when hard water is treated with soap.


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